IIpousBoaHBIE JIeMEHTAPHBIX (PYyHKIMI

1 BapuaHT
HaiiguTe IpousBOAHYIO GYHKIMM:
Ly=x-20+x+2 dy=——;
2. y= Jx(2sinx + 1); 5.y=3";"2;
3.y=%; 6.y=tgx+%.

2 BapMaHT
HaliguTe HPOH3BOAHYIO QYHKIHH:
l.y=—-x*+0,5x2-x+ 1; 4'y231111x;
xl
2.y =-3cosx-(x?+ 2); 5.y=3_x.
3 — L' 6 =x2 + ctgx
Y= J;v Y = g X.

TIpy KaKuX SHAYEHHMAX X BHINOJHAeTcA paBeHcTBo f(x) = 0,

Tlpu KakuX 3HAYEHUAX X BBHINOJHAETCs paBeHcTBO f'(x) = 0,

ecJIM M3BecTHO, 4To f(x) = % = % + 47 ecmu maBectHO, uTo f(x) = 10Vx — x + 32
3 BapuaHT 4 papuaHT
Haiigure Tpon3BogHy0 QyHKOHH: HaiizuTe nMpousBofHYI0 DYHKIIUN:
1 3
l.y= 0,25x* + x2 — 4; 4, y= 'a%—x; 1. y= —0,5::‘ + ‘3‘173 - 2x; 4. y= m;
sin x 2
2.4 == 6x) (1 - 2x); Su=73 2.y=(4J§+3)[1'%} .y=
- 2. -
3.y-\E. 6. y = (3x + 1)ctg x. 3.y=—%; 6.y = xitgx.

IIpn kaxkux 3HAYEHUAX X BHINOJHAETCA paBeHcTBO f(x) = 0,
ec/u M3BeCTHO, uTo f(x) = 6y/x(x? — 5)?

. Ilpy KaxWX 3HAYEHHAX X BBLINOJHseTcs paBeHcTBO f(x) = 0,

€CJIH H3BECTHO, 4YTO )‘(.‘l’.’) = ?
H —
x




